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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 6th Semester Examination, 2022  

SEC2-P2-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 The Question paper contains Section-2A and Section-2B. 
The candidates are required to answer any one from two Sections. 

Candidates should mention it clearly on the Answer book. 
 SECTION-2A 

pyfp= v/;;u 

 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12 

(d) pyfp=dks iVdFkk ys[ku HkUukys ds cqf>UN \ 

([k) pyfp= HkUukys ds cqf>UN \ Li’V ikuZqgksl~A 

(x) pyfp= fuekZ.kek vko”;d iusZ rhuoVk izeq[k rÙog: ds ds gqu~ \ 

(?k) Nk;k³~du HkUukys ds cqf>UN \ ;ldk izdkjg: ys[uqgksl~A 

(³) *O;kolkf;d* j *dyk* pyfp= HkUukys ds cqf>UN \ 

(p) usikyh lkfgfR;d ÑfrykbZ Nk;k³~du xjh fuekZ.k xfj,dk dquS rhuoVk pyfp=dks uke 
ys[uqgksl~A 

  

 lewg-[k 

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

 (d) pyfp=ek laokndks egÙoA 

([k) pyfp=ek vfHku;dks egÙoA 

(x) pyfp=ek pfj= ;kstukA 

(?k) pyfp=ek xhr ys[kuA 

(³) pyfp=ek D;kesjk lkyudks egÙoA 

(p) pyfp=ek Hks’kHkw’kkA 
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 lewg-x 

3. rydk dquS nqbZoVk iz”udk mÙkj fnuqgksl~ & 12×2 = 24

(d) pyfp=dks vFkZ j ifjHkk’kk Li’V iknSZ usikyh pyfp=dks fodklckjs “kks/kewyd ys[k 
ys[uqgksl~A 

([k) pyfp=ek lEiknu j funsZ”kudks HkwfedkekfFk izdk”k ikuZqgksl~A 

(x) pyfp=ek l³~xhrdks mi;ksfxrk j egÙockjs vk¶uks v/;;u izLrqr xuZqgksl~A 

(?k) pyfp= fuekZ.kdks ewy vkSfpR; ds gks \ ;ldk lkekftd vkSfpR;ckjs fVIi.kh xuZqgksl~A 

   

 SECTION-2B 

tulkj 

 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12 

(d) tulkj HkUukys ds cqf>UN \ 

([k) tulkjdk izeq[k ek/;eg: ds ds gqu~ \ 

(x) i=dkfjrkykbZ jk’Vªdks *pkSFkks LrEHk* fdu HkkfuUN \ 

(?k) jk’Vª fuekZ.kek tulkjdks Hkwfedk dLrks gqUN \ 

(³) *i=dkj lEesyu* HkUukys ds cqf>UN \ 

(p) lEiknddk xq.kg: ds ds gqu~ \ 

  

 lewg-[k 

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

 (d) tulkjdks {ks= j lhekA 

([k) tulkjdks Hkk’kk j “kSyhA 

(x) lekpkj i=ek lEikndh;dks egRoA 

(?k) tulkjdks Lo:i j fo”ks’krkA 

(³) Nkik lkj ek/;edks orZeku fLFkfrA 

(p) tulkjdks izfØ;kA 
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 lewg-x 

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) tulkjdks ifjHkk’kk fn¡nS ;ldk iz;kstu j egRockjs NyQy xuZqgksl~A 

([k) orZeku le;ek Nkik lkj ek/;e HkUnk fon~;qrh; lkj ek/;eys fo”ks’k fodkl xukZdk 
izeq[k dkj.kg: ds ds gqu~ \ vk¶uks fopkj jk[uqgksl~A 

(x) tulkjdks vFkZ Li’V iknSZ ;ldks “kfDr vfu pqukSfrckjs ppkZ xuZqgksl~A 

(?k) i=dkfjrkdks vFkZ j ifjHkk’kk fn,j ;ldk izdkjg: fpukmuqgksl~A 

 
——×—— 

 


